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515
21.0 30.6
( ) 515
515 L= 2 0 L= 0 L= 513
2,370 C= 11 0 C= 0 C= 2,359
9,606 A= 8,067 145 A= 224 A= 1,170
5,808 C= 5,133 41 Cc= 136 C= 498
372 C= 242 1 C= 9 c= 120
8,550 C= 5,386 42 C= 145 C= 2,977
63.0% 63.5% 65. 2% 100%
89.1% 0.5%
7 3 20 5

21




%

10

22




25

A
A 4

WwgTSe="1

D B B B BN o N ]

[ T 77 g \LL\\J\\m\
n\\\\\\\\\\\\N\\\\\\“\h%\\\\\&\WW&Q\N
wGTS=1 wzTs=1 ’/
TN ST

23



25

[
[ 1
L 1

24




co2

| |
coz
710 /
1 / - 1 /

n NO2
[ NO2

22 / 983 / - 981 /
[ SPM
[ SPM

02 / 925 / - 923 /
O
O
| |
O
O
O
O 1km
O 6m
O
O

25




500 / 1,000 /12h
500 /

500 /

1,000 /12h
500 /12h 100 /
40 /
500 /

O

1.0

26




Ooooao O

LI

16ha

(300
100 5ha

DID

25t

ISO

1.5km/km2

20km/h

10,000

27




-

832.44

X
744,818.39
745,650.83
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X
99,772.96
99,794.00
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19,319.92
19,322.46
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744,818.39

99,772.96

19,319.92

2.54
B 14655.04

832.44

21.04

2.54

856.02




2.7 x 0.515 1.05= 1.32

23.30
8550
8142.86
8244.00
c 23.30 8244.00 8267.30
B C 14655.04 8267.30
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